February 10, 2021

Math 110
Winter 2021
Lecture 20

Com?mr M 3 fwo

Ho'- G:Q‘i
et O # %2  VIT

ST
\ESTS
- Scm\FF Test

P-vale DX & Ho Vold & Wi involid
P_vale <o <> Ho iwdid £ Wy velid

Rejest the b OR FT R The claiw




February 10, 2021

CO‘\S(AW e Chart below:
Sumple A( Sample 2 (D eriSY S 9 7
%‘Zq %2: 5

0 @use =402 {5 Fest the
m=2 | Mot daim et =0

Hor G =02 cloren | [ C1o F2 SWT
S eSS

Hi . W\ :F Q'_Z, YT P—/\IQ\UQ ‘D:. 0% 2-&‘“?‘:_“;
P~W\0&> ol
0% W02
B Volid K4 invalid

Vol i =pF IR he
c\ouw

\‘%ruta& Aass © M= =g S:10

M= 12 2386
et the latm that two POP:
ove & $Severt,

AS4ey noon Cassd*
use (k= .1) 1o
SNondovd Aeviotons

e ——— v %05
o Ov= 0o AS¥eymoon | Movting
JTTT %\:Hz ?\L:\z
M, =) 2=
) Yook ) o€
P \JQ\UQ ?: 03%2 352 g1
2-SampF Test Mo Vol =
P ° 1‘\\10.\\‘3 o
'Re\je& the

Aatw




g 925 32 40

=%

T Seeded € Semale S*vo\m*s/ heve ave thev ages

2=29 Roond &

n whole .

bdweew 1w

c1s F= 2461

Povolie P=o246
2- SQW\?F Test

oy 2% 30 35 S-

1 seledred 1D male studedds, lteve awe thevage
oy 34 4t 1 2% x=32  Roond B0
wo 20 90 1§ %0 ot ahole .

Test the clatm that  thes 5 @(E

o Yop Stondovd Qevicions.

NO &
.09

Moles | Females
g 4% 1T S AL 5,2
. A
* ' * > = 10 | Moo= ‘g

S Yo

P_Nalve) oC
;L'-\(ﬁ 05

Ho Velid & W iswlid

Vol claim

February 10, 2021

= Fou\-%o /R@j&d
e Ao,

Pr Means

Qowgw‘mn o least > V°

Hot M= Moz Myz = Mg
Wy AY tea} one mean (S AtSSerent, RTT

¢S F = \SWt) fesl (3)

P vole V= AoVA(LL, L2505, -
Enley

Rvalve Yol = Ho Nolid & W ‘,\E?w Q
Cyole Lok 2 W Jalid € Wo invlid

FTR the

Reject the clatm OR
ot




ME.SRC | CheSSed | ELAC

woe "(‘g‘z 6 %% 63|98 A s2
65 100 G4 100 |75 64 100

w -y — w
L L2 L>

st oe—.l T test the Clatm that il Pop

weans ove the Same.

Mot M \east one mean o A SSevent:
swr teste T AWNRQLL, L2, 1> Enled

R 2 2valie ) OCl
_ L 3%9 .
P-Nalue P= 335 My Valids Wi (‘wa\\‘x)

Sk 36

Wi SAC | ChaSSetl | Cibrus| Gl Roly

25 ?z ‘%" G o1 a0/t og || 3% 4
21 23 35| . a5 o0[33 24|25 35 4
\q ~—~ — vég_/ Sw\_zg
L. T B
Test the Claim that mot all Pop means ave
The Seme. Wor M= Mg = Pg= 4
NO oL _
@log \ A |
(1o Todm Pvolug Lok
Lout 05

P_valve U= .04t
AnoVA (L, L2, LD, LY)| Wo
1S we Chosse k=202
Pvalve > X

i(\\lq\\‘a \"1\1&\&
Walvd dasv

February 10, 2021



February 10, 2021

Ho Vol Yo invalid

S\’W“* Wo v Type B
Rged Wo| et [ Y
binal  Exow

) Ol — 0G 2% 2-Sam\>\:TesT

« A'NOVA

o) Review exam L £ Cyxam

3) Stacks of 1S Ends of 130

4) 4 Voges,




